
 

  

OCTOBER 2011 U/ID 22308/UCWK 

Time : Three hours Maximum : 100 marks 

SECTION A — (10 × 3 = 30 marks) 

Answer any TEN questions. 

All questions carry equal marks. 

Each answer should not exceed 50 words. 

1. Define management accounting. 

 ÷©»õsø© PnUQ¯¾US ÁøµÂ»UPn® u¸P. 

2. State the main objectives of cost accounting. 

  AhUPÂø»U PnUQ¯¼ß •UQ¯ ÷|õUP[PøÍU SÔ¨¤kP. 

3. What do you understand by comparative financial statements? 

 J¨¥mk {v°¯À AÔUøPPÒ £ØÔ }Âº AÔ¢xÒÍøÁ ¯õøÁ? 

4. What do you understand by accounting ratios? 

 PnUQ¯À ÂQu[PÒ £ØÔ }Âº AÔÁx ¯õx? 

5. What are turnover ratios? 

 ÂØ£øÚ ÂQu[PÒ ¯õøÁ? 

6. Give three objectives of preparing funds flow statement. 

 {v |h©õmh AÔUøPø¯ u¯õº ö\´Ávß ‰ßÖ ÷|õUP[PøÍz 

u¸P. 

7. What do you mean by cash flow statement? 

 öµõUP |h©õmh AÔUøP°øÚ¨ £ØÔ¯ E©x ö£õ¸Ò ¯õx? 

8. State the uses of preparing cash flow statement. 

 öµõUP |h©õmh AÔUøPø¯ u¯õº ö\´Ávß £¯ßPøÍU 

SÔ¨¤kP. 

9. What is a budget? 

 vmh¨£mi¯À GßÓõÀ GßÚ? 
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10. State any three control ratios. 

 H÷uÝ® ‰ßÖ Pmk¨£õmk ÂQu[PøÍU SÔ¨¤kP. 

11. Distinguish between marginal cost and direct cost. 

 CÖv{ø»a ö\»ÂØS® ÷|µi ö\»ÂØS® Cøh÷¯¯õÚ 

÷ÁÖ£õkPÒ ¯õøÁ? 

12. What is profit volume ratio? 

 C»õ£ AÍÄ ÂQu® GßÓõÀ GßÚ? 

SECTION B — (5 × 6 = 30 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

13. Explain the uses of management accounting. 

 ÷©»õsø©U PnUQ¯¼ß £¯ßPøÍ ÂÍUSP. 

14. From the following data relate to X limited, evaluate the 

financial position of the company using the trend ratios. 

  Rupees in laksh 

 1989 1994 

Working capital 47 76 

Plant and equipment  20 48 

Long term debts 14.5 28 

Net tangible assets 56 100 

 X {ÖÁÚzxhß öuõhº¦øh¯ RÌUPõq® ÂÁµ[PÎ¼¸¢x, 

÷£õUS ÂQu[PøÍ¨ £¯ß£kzv A¢{ÖÁÚzvß {v {ø»ø¯ 

©v¨¤k ö\´P. 

 (¹£õ´ C»m]¯zuõÀ) 

 1989 1994 

|øh•øÓ ‰»uÚ® 47 76 

C¯¢vµ® ©ØÖ® uÍÁõh[PÒ 20 48 

}shPõ» PhßPÒ 14.5 28 

{Pµ ¦»ÚõS® ö\õzxUPÒ 56 100 
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15. The following is the revenue statement of Hind traders limited 

for the year ended 31st March 2009. 

 Rs. 

Sales 5,00,000 

Less : Cost of goods sold 3,00,000 

Gross profit 2,00,000 

Less : Operating expenses 1,20,000 

Operating profit 80,000 

Add : Non-operating income 12,000 

 92,000 

Less : Non-operating expenses 4,000 

Net profit 88,000 

Less : Tax 50% 44,000 

Net profit after tax 44,000 

 Calculate :  

 (a) Gross profit ratio 

 (b) Operating ratio 

 (c) Operating profit ratio and  

 (d) Net profit ratio. 

 RÌUPõq® î¢u i÷µhºì {ÖÁÚzvß 31 ©õºa 2009&® Bsøh¯ 

Á¸Áõ´ AÔUøP°¼¸¢x 

 (A) ö©õzu C»õ£ ÂQu® 

 (B) C¯UP ÂQu® 

 (C) C¯UP C»õ£ ÂQu® ©ØÖ® 

 (D) {Pµ C»õ£ ÂQuzvøÚU PnUQkP. 

 ¹. 

ÂØ£øÚ 5,00,000 

PÈUP : ÂØ£øÚ AhUP® 3,00,000 

ö©õzu C»õ£® 2,00,000 
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 ¹. 

PÈUP : C¯UP ö\»ÄPÒ 1,20,000 

C¯UP C»õ£® 80,000 

TmkP : C¯[Põ C»õ£® 12,000 

 92,000 

PÈUP : C¯[Põ ö\»ÄPÒ 4,000 

{Pµ C»õ£® 88,000 

PÈUP : Á›50% 44,000 

Á›US¨¤ß {Pµ C»õ£® 44,000 

16. Calculate the debtors turnover ratio and debt collection period 

from the following data : 

 Rs. 

Debtors in the beginning 40,000 

Debtors at the end 50,000 

Credit sales during the year 2,25,000 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x PhÚõÎPÒ _ÇØ] ÂQu® ©ØÖ® Phß 

Á`À Põ»® BQ¯ÁØÔøÚU PnUQkP. 

 ¹. 

öuõhUP PhÚõÎPÒ 40,000 

CÖv PhÚõÎPÒ 50,000 

BsiØPõÚ Phß ÂØ£øÚ 2,25,000 

17. The following data relase to XYZ company : 

 (a) Normal capacity 40,000 units per month. 

 (b) Variable cost per unit Rs. 10 

 (c) Actual production 44,000 units 

 (d) Sales – Nil 



 

 U/ID 22308/UCWK 5 

 (e) Fixed manufacturing overheads Rs. 1,00,000 per month or 

Rs. 2.50 per unit at normal capacity.  

 (f) Other fixed expenses Rs. 8,000 

  You are required to prepare income statement under 

marginal costing method. 

 RÌUPõq® ÂÁµ[PÒ XYZ {ÖÁÚzxhß öuõhº¦øh¯uõS®. 

 (A) \õuõµn EØ£zv vÓß 40,000 A»SPÒ ©õuö©õßÔØS  

 (B) A»S JßÔØS ©õÖ® ö\»ÄPÒ ¹. 10 

 (C) ÷©ØöPõsh EØ£zv 44,000 A»SPÒ 

 (D) ÂØ£øÚ – Qøh¯õx. 

 (E) ©õö©õßÔØS {ø» EØ£zv ö\»ÄPÒ ¹. 1,00,000 AÀ»x 

\õuõµn EØ£zv vÓÛÀ A»S JßÔØS ¹. 2.50. 

 (F) ¤Ó {ø» ö\»ÄPÒ ¹. 8,000. 

  CÖv {ø» ö\»Ä •øÓ°ß RÌ Á¸©õÚ AÔUøP°øÚ 

u¯õ›UP.  

18. Calculate profit volume ratio from the following information : 

Year  Sales 

Rs. 

Profits 

Rs. 

2008 1,50,000 20,000 

2009 1,70,000 25,000 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x C»õ£&AÍÄ ÂQuzvøÚU 

PnUQkP. 

Á¸h® ÂØ£øÚ 

¹. 

C»õ£®  

¹. 

2008 1,50,000 20,000 

2009 1,70,000 25,000 

19. A manufacturing company submits the following figures of 

product ‘X’ for the first quarter of 1996 : 

Sales in Units  January 50,000 

 February 40,000 

 March 60,000 
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 Selling price per unit Rs. 100 

 Target of first quarter 1997 : 

 Sales quantity increase 20% 

 Sales price increase 10%. 

 Prepare sales budget for the first quarter of 1997. 

 J¸ EØ£zv {ÖÁÚ® uÚx ‘X’ ö£õ¸ÐUPõÚ 1996&® Bsiß 

•uÀ Põ»õsiØPõÚ RÌUPõq® uPÁø» AÎUQßÓx. 

ÂØ£øÚ (A»SPÒ) áÚÁ› 50,000 

 ¤¨µÁ› 40,000 

 ©õºa 60,000 

 ÂØ£øÚ Âø» A»S JßÔØS ¹. 100 

 1997&® Bsiß •uÀ Põ»õsiØPõÚ C»USPÒ : 

 ÂØ£øÚ A»SPÎÀ TkuÀ 20% 

 ÂØ£øÚ Âø»°À TkuÀ 10%. 

 1997&® Bsiß •uÀ Põ»õsiØPõÚ ÂØ£øÚ vmh¨£mi¯ø» 

u¯õº ö\´P.  

20. What are the limitations of absorption closing? Explain. 

 •Ê HØ¦ ö\»Âß SøÓ£õkPÒ ¯õøÁ? ÂÍUSP. 

SECTION C — (2 × 20 = 40 marks) 

Answer any TWO questions. 

All questions carry equal marks. 

21. How does management accounting differ from cost accounting? 

 ÷©»õsø© PnUQ¯À, AhUPÂø»U PnUQ¯¼¼¸¢x GÆÁõÖ 

÷ÁÖ£kQßÓx? 

22. From the following particulars, prepare the balance sheet of  

Shri Mohan Ram and Co Ltd., 

Current ratio 2:1 

Working capital Rs. 4,00,000 
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Capital employed to current assets 3:2 

Fixed assets to turnover 1:3 

Sales cash/credit 1:2 

Debentures/share capital 1:2 

Stock velocity 2 months 

Creditors velocity 2 months 

Debtors velocity 3 months 

Gross profit ratio 25% to sales 

Capital block :  

Net profit 10% of turnover 

Reserve 2½ of turnover 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x, ÿ. ÷©õPß µõ® & {ÖÁÚzvØPõÚ 

C¸¨¦ {ø»USÔ¨¤øÚz u¯õ›UP. 

|h¨¦ ÂQu® 2:1 

|øh•øÓ ‰»uÚ® ¹. 4,00,000 

£¯ß£kzu¨£mh ‰»uÚ® ©ØÖ® |h¨¦  

ö\õzxPÐUPõÚ ÂQu® 

3:2 

{ø»a ö\õzxPÒ ©ØÖ® ÂØ£øÚUPõÚ ÂQu® 1:3 

ÂØ£øÚ öµõUP®/Phß 1:2 

PhÜmk¨£zvµ®/£[S•uÀ 1:2 

\µUQ¸¨¦ _ÇØ] Põ»® 2 ©õu[PÒ 

PhÜ¢÷uõº _ÇØ] Põ»® 2 ©õu[PÒ 

PhÚõÎPÒ _ÇØ] Põ»® 3 ©õu[PÒ 

ö©õzu C»õ£® ÂQu® 25% (ÂØ£øÚ°À) 

‰»uÚ® :  

{Pµ C»õ£® 10% ÂØ£øÚ°À 

Põ¨¤¸¨¦ 2½ ÂØ£øÚ°À 
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23. From the following information prepare cash flow statement for 

the year ended 31.12.1994. 

Balance sheets as at 31st December 

Liabilities 1993  1994 Assets 1993  1994 

 Rs.  Rs.  Rs.  Rs. 

Capital 1,50,000  1,75,000 Land and Building 1,10,000  1,50,000 

Bank over draft 1,60,000  1,00,000 Machinery 2,00,000  1,40,000 

Bills payable 50,000  40,000 Stock 50,000  45,000 

Creditors 90,000  1,25,000 Debtors 70,000  80,000 

    Cash 20,000  25,000 

Total 4,50,000  4,40,000 Total 4,50,000  4,40,000 

 Additional information : 

 (a) Net profit for the year 1994 amounted to Rs. 60,000 

 (b) During the year, a machinery costing Rs. 25,000 

(accumulated depreciation Rs. 10,000) was sold for  

Rs. 13,000. The provision for depreciation against 

machinery as on 31.12.1993 was Rs. 50,000 and on 

31.12.1994 Rs. 85,000 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x öµõUP |h©õmh AÔUøP u¯õ›UP. 

31 i\®£º |õøÍ¯ C¸¨¦ {ø» SÔ¨¦PÒ 

ö£õÖ¨¦PÒ 1993  1994 ö\õzxUPÒ 1993  1994 

 ¹.  ¹.  ¹.  ¹. 

•uÀ 1,50,000  1,75,000 {»® ©ØÖ® Pmih® 1,10,000  1,50,000 

Á[Q 

 ÷©ÀÁøµ¨£ØÖ 

1,60,000  1,00,000 C¯¢vµ® 2,00,000  1,40,000 

ö\¾zxuØS›  ̄̂ mk 50,000  40,000 \µUQ¸¨¦ 50,000  45,000 

PhÜ¢÷uõº 90,000  1,25,000 PhÚõÎPÒ 70,000  80,000 

    öµõUP® 20,000  25,000 

ö©õzu® 4,50,000  4,40,000 ö©õzu® 4,50,000  4,40,000 
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 TkuÀ ö\´vPÒ : 

 (A) 1994&® Bsiß {Pµ C»õ£® ¹. 60,000 

 (B) C¢u Bsk ¹. 25,000 ©v¨¦ÒÍ J¸ C¯¢vµ® (÷\ºzx 

øÁUP¨£mh ÷u´©õÚ® ¹. 10,000) ¹. 13,000zvØS ÂØ£øÚ 

ö\´¯¨£mhx. C¯¢vµzvß «uõÚ ÷u´©õÚ JxUS 

13.12.1993® ÷uv¯ßÖ ¹. 50,000 ©ØÖ® 31.12.1994&® 

÷uv¯ßÖ ¹. 85,000 BS®. 

24. The expenses budgeted for production of 10,000 units in a 

factory are furnished below : 

 Per unit 

Rs. 

Materials 70 

Labour  25 

Variable factory overheads 20 

Fixed factory overheads (Rs. 1,00,000) 10 

Variable expenses (Direct) 5 

Selling expenses (10% fixed) 13 

Distribution expenses (20% fixed) 7 

Administrative expenses 5 

(Fixed - Rs. 50,000)  

Total 155 

 You are required to prepare a budget for the production of  

6000 units and 8000 units. 

 J¸ {ÖÁÚzvß 10,000 A»SPÐUPõÚ EØ£zva ö\»ÂØPõÚ 

uPÁÀ R÷ÇU öPõkUP¨£mkÒÍÚ. 

A»S JßÔØS 

¹.  

‰»¨ö£õ¸Ò 70 

T¼ 25 

öuõÈØ\õø» ©õÖ® ö\»ÄPÒ 20 

öuõÈØ\õø» {ø» ö\»ÄPÒ (¹. 1,00,000) 10 
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A»S JßÔØS 

¹.  

©õÖ® ö\»ÄPÒ (÷|µi) 5 

ÂØ£øÚ ö\»ÄPÒ (10% {ø»¯õÚx) 13 

ÁÇ[PÀ ö\»ÄPÒ (20% {ø»¯õÚx) 7 

{ºÁõP ö\»ÄPÒ ({ø»¯õÚx ¹. 50,000) 5 

ö©õzu® 155 

 6,000 A»SPÒ ©ØÖ® 8,000 A»SPÒ EØ£zvUPõÚz 

vmh¨£mi¯ø» u¯õ›UP. 

—————————— 


